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Frel: MAATEWRAT . M BH: HESMG: 00 & 2H ®
s
w5
RS -3
| EBMERAE (1 0%) o
(aGRERTES AT TR 7 B B B S P10 H.

7 BB R BB T 7 1L 92bi tE BT R I A S B
B m B -

(b} HREERTERRE T AN aEs FERR AR S HEE T
e .

2 RERBIIRT ERBEGBIE (40 ASCII code J¢ BIG-5 code) » SLENM
AP EFRIILF T EEMAUSCI code B BIG-5 cade - ( 59)

3 BB recursive WUAREILTIES - (BEXLHT8E) (15 9% )
(a) HE—-E@FH (41 "Recursive” ) ZEETE ("evisruceR") EIH
{59%)

(b) B~ Insert_iist 2 E¥ (function) - [ 6 B ag A -5 2 5
Clist) RB—{H%E8) - 5 Rudiin A ik 5 51 CH BRI BER R A
ERBESEII AN SR - (1 0%)

4 HBIRBFIER NOR gate HUTIRELHIHENY H-CBERE (conbination
circuity (10%)

o =M b-{lip-flop M ¥Nand gate {(BEAE) 25—~ counter, H
NEFFLOF © (i #E192E synchronous counter)
145870 (10%)
BRAEGFRME CPU 0RIIET BB counter B M7 - {55%)

6 LUFRRi@e-T 13 FH W S = i ERERAIE R Pointer (F58) 2 H
e (] 0%)

(a) array = dynamic allocation.

(b} 7% call by value F9HRT « 8— 3l ik B T 50 U o (s = o R R
BRI A - -

7. Explain the follosing terms: {[5%}
(a) array (b} data type (c) priority queue (d) hecap tree (e)
Spanning trce
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8. The tree of (b) is said ta pe a left rotation of the tree rootad

at A of fu),

ia)

{:"l"‘-‘l: {b} ; _a—E:-u.\.
e Sy
_.J/. "-_\ //; \'-\

I Ryp— i _— L
B o Lgft r::jtatfn R P
. _ e S .

Ij_,-'ﬁw_. Ea

Design a data struciure and write a C routine to implement a left
rotation of a subtree rooted at p based on the data structure you
propose.  {10%)

9 Consider the following deque of characters where DEQUE is a
circular arrzy which is allocated six memorv cells:

LEFT=2, RIGHT=4 DEQUE- A G oD,

Describe the degue while the following operations take place. (You

must write down the values of LEFT and RIGHT and the content of
DEQUE. J €10%)

(a) ¥ is added 10 the right of the deque.
(b} Two leiters on the right are deleted
) Ko Looand ¥ oare added to the left of the deque,

() One iotier on the lefL is deleted,

(e} R is added to the {cfy of the degusa,
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